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Hiii : Bill Gates, How to Avoid a Climate Disaster: The Solutions We Have and the Breakthroughs
We Need, Penguin Random House, 2021. $&f « —H#2kZE.
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*] fossil-fuel : {LAREL (AR « AR L)

*2 inflict : &9

*3 average retail price : ¥/ NTEfliEE

*4 gallon : (REE(L) Frr A Har=14) v V)
3 furnace : BRJF

*6 thought experiment : .35 325k

* suck : BT %

*8 spew out : HEHT 5

*9 coal-fired plant : & K )3 BT

*10 amount of global emissions : HIERHAR O HEH it
fil 1

(1) Explain the concept of Green Premium based on the above text. (max. 40 characters)
(2) Write the calculation formula for the Green Premium based on the underlined part (B).

In the formula, describe the quantity to be calculated, NOT the numerical value. For
example, the calculation formula for the Green Premium based on the underlined part
(A) is described below.
AArrdlyd) V-7 VIT A=
NAFEE 1L e roax b —{bRBEH 1L Aer0ax b

f§2 Calculate how many dollars of Green Premium would be needed to reduce 20% of

10 million tons of carbon dioxide emissions generated by jet fuels using the two
methods described in the text. Show the calculation procedure. Use the following
assumptions: (1) 400 liters of jet fuel are consumed for one-ton of carbon dioxide
emissions. (2) As described in note *4, one gallon is approximately equal to four liters.

3 There are various types of Green Premiums as described in the text. Tutt library

at Colorado College, a private college in USA, was renovated with geothermal* and
solar power systems and became a hot topic of conversation. In your daily life or
school life, describe an example of how you would eliminate or reduce carbon



dioxide emission and how you would decrease the Green Premium involved (max.
300 characters).
E* geothermal : HIZF®
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